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How do we Come 
up With 

Recommendations 



Economic Injury Level 
(EIL) 

(EIL) = “The lowest 
population density of a 
pest that will cause 
economic damage; or the 
amount of pest injury 
which will justify the cost 
of control.”  P =  C ÷ (V x I 
x D) 
 
 



Economic Injury Level (EIL) 
 

Corn Earworm in Soybeans, Sweep Net Sampling 

P =  C ÷ (V x I x D) 
 

13.1 =  $20/acre ÷ ($9/bu x 1 larva per 25 sweeps x 0.17 bu lost ) 

No. Larvae / 25 Sweeps 

Control Costs ($/acre) 

Crop Value ($/bu) 10 15 20 25 30 

6 9.8 14.7 19.6 24.5 29.4 

7 8.4 12.6 16.8 21.0 25.2 

8 7.4 11.0 14.7 18.4 22.1 

9 6.5 9.8 13.1 16.3 19.6 

10 5.9 8.8 11.8 14.7 17.6 

12 4.9 7.4 9.8 12.3 14.7 

P = Density or intensity of pest 
population  
(for example insects/acre) 
 
C = Pest Management Costs ($/acre) 
 
V =Market Value of per unit of produce 
(for example, $/acre) 
 
D = Damage per unit injury 
(for example, bushels lost/acre/percent 
defoliation) 
 
I = Injury units per production unit (for 
example, % defoliation/insect/acre, 
expressed as a proportion) 



Economic Threshold 

• The level of pest 
infestation at which 
management action is 
justified 



EIL And ET In Relation To Pest Density 

Figure credit: Ed Zaborski, University of Illinois. 



Examples Of Thresholds And 
Threshold Modifications In 

Recent Years 



Relationship Between Fruit 
Injury And Yield 

Y = 39.36 - 0.3085x
P < 0.0001, R2 = 0.203

Percentage increase in boll injury
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Percentage increase in square injury
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Y = 41.69 - 0.3551x
P < 0.0001, R2 = 0.223

Percentage increase in fruit injury
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Y = 39.77 - 0.3387x
P < 0.0001, R2 = 0.174

Percent squares injured
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Y = -2.15 + 0.9690x

P < 0.0001, R2 = 0.88



Data Indicated We Were Spraying Too Late 



Threshold 
Adjustments 
For Quality 
Problems 
With Stink 

Bugs 
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Base calculation
Price from 9 to 12
Yield from 40 to 60
Damage from 2 to 5



Sometimes Circumstances Dictate Changes to Thresholds 



Sometimes the Data Supports NO THRESHOLD 
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No Matter How Accurate Your Threshold is, If Folks Don’t Adopt it….It’s 
Worthless 



Food For Thought 



Cannot 
Manage for 

The 
Exceptions 

Probability of Economic 
Damage to BG3, WS3, or TL+ 



It’s Not Always 
As It Seems 
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It’s Not Always 
As It Seems 
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You Absolutely Have To Take 
Counts…. 



Cannot Have 
Zero 

Tolerance 



There Are Limitations To Thresholds, 
But We Can Do Much Better With 

Zero Yield Penalties 
 

Our End Goal Is For Our Producers 
to Remain Profitable 



Thank You 
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